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Question Number : 1 Question Id : 41652911596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



In a survey it was found that 21 people liked
product A, 26 liked product B and 29 liked
product C. If 14 people liked products A
and B, 12 people liked products C and A,
14 people liked products B and C and
8 liked all the three products. Then the
number of people who liked product C only
is :

Options:

41652045322 4
41652945323, ©
41652945324, 11

41652845325, 19

Question Number : 1 Question Id : 41652911596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 _
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Options:

41652045322 4
41652945323, ©
41652945324, 11

41652845325, 19

Question Number : 2 Question Id : 41652911597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The locus of the point w = Re(z) 4 lr

where |z) =3, in complex plane is :

Options:



41652945326, @ parabola

41652045327, acirde

41652845325, an ellipse

41652945329, 2 Typerbola

Question Number : 2 Question Id : 41652911597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

qig waae 3 fag w= Re(z) 4
z =3,$TT’<'_=]*_3’EIEI%:

Options:
41652945326, b TiHcTd

e

, el

| =

41652945327, OB 91

41852945325, b 1

41552345329, e '

Question Number : 3 Question Id : 41652911598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[f each pair of three equations
xz—plx+2=[],xz—pzx+3=lf],
x2—px+6=0
have a common root, then the positive
values of py, po, p3 are, respectively :
Options:

41852945330, > 45
41652945331, 2 3 6

41652945332, L 3,6

41652845333, 35,6

Question Number : 3 Question Id : 41652911598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



x2=px+2=0, 22— p,x+3=0,
12 —pax+6=0

F UE I w1 UH IWATS g ¥, al
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Options:

41652045330, 4O
41652945331, 2 3 6

41652945332, L 3,0

4165259452333, % 5,6

Question Number : 4 Question Id : 41652911599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ja b e
Let A=|b 3c a | bea 3x3 matrix
[ d _d}rh

wherea, b, ceR. Ifabc=1, AAT =641, and
det (A) > 0, then (a® +b* +2), is :

Options:
41652945234,

P
=l

4165259452335,

Rl=

41852945356,

41652045337, 7

Question Number : 4 Question Id : 41652911599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3a b c
W‘ﬂi: h .1"!.-L d r%x%mﬁw
c a 3b

g wEfF a, b, ceR. AfTabc=1, AAT=641,
Adldet (A)> 0, T (@ +b3+3) B :

Options:

41652945334, 21



41652945335, 11

41652945336, 9

41652045337, 7

Question Number : 5 Question Id : 41652911600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The value of “a’ for which system of linear

equations
x+ay+z=
ar+y+z=1
x+y+az=1

has no solution is :

Options:
41652945338, 1

41652945339, 1

y.
4165259452340,

41652945341, — 2

Question Number : 5 Question Id : 41652911600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x+ay+z—=
ax+y+z=
x+y+az=1
ﬂﬁ%ﬂ?ﬁ%%
Options:

41652945338, 1

41652945339, 1

2
418529452340 &

41652945341, -

Question Number : 6 Question Id : 41652911601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The maximum number of points of
intersection of 4 distinct circles and 8
distinct straight lines, is :

Options:

41652945342, 00
41652945343, 64
41652945344, 104

416525945345, 40

Question Number : 6 Question Id : 41652911601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

416529453542, 66

41652945343, 04
41652945344, 104

4155259452345, 40

Question Number : 7 Question Id : 41652911602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The sum of all the coefficients in the
binomial expansionof (1 +x)"is 1024. Then
the largest coefficient in the expansion is:

Options:
41652945346, 012

41652045347, 292

41652945348, 290

41652945349, 02

Question Number : 7 Question Id : 41652911602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



(1+x)" & T5Ue THR & [t el 1 am
1024 &, o1 50 THR H AT o €
Options:

41652945346, 512

416525945347, 22

41652945348, 206

41652945349, 302

Question Number : 8 Question Id : 41652911603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[f three real numbers, a, b, ¢, all greater than
one, are in a geometric progression such

'Ingﬁ a log.b log.c

that , where x, y

X 2y Az
and z are non-zero real numbers, then :
Options:
41652945350, 2 =X +3z

41652945351 Ay =x+3z

41652045352, Y =¥ +z2

41652945353, Y=1+z

Question Number : 8 Question Id : 41652911603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Afg T aRdia® &8 a, b, ¢ (F78® 1 9
HAfus) e g2t § 3H UFR ¥ fE
.If}gﬁa _log,b  log.c

, T8l x, y 91 z
" 3 2y 3z Y
Y ArEfa® GEIE g, 9l
Options:

41652945350, Y =x+3z
41652945351 4y =x+3z

41652945352, 2 =¥tz



41652945353, Y=X+Z

Question Number : 9 Question Id : 41652911604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The sum of the first 19 terms of the series

1242224324 2424524+ is:
Options:
41652945354, 4200

41652945355, 410

41652945356, 3800

41652945357, 2010

Question Number : 9 Question Id : 41652911604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o
124+2:22432 42424524 ...
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Options:

41652945354, 4200

41852945355, 410

41652945356, 2800

416525945357, 3610

Question Number : 10 Question Id : 41652911605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If f: R —» R be a differentiable function such
that f(3) =7 and ['(3)=1, then the value of

flx) 4.2
lim J- ;L'“. is *
x—3 ), (x—=3) "7

Options:

41652445358, 21

41652945359, 147



41652945360, 441

41652045261, 105

Question Number : 10 Question Id : 41652911605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AR > R UH T4 e 39 TR & fh
f@)=7TMf@3)=1,

_ﬁ:l} ‘%L‘— A,
lim .I- '—_%]dL FHAT:

-3 J7 (X
Options:

41652445358, 21
41652945359, 147
41652945360, 441

41652945361, 100

Question Number : 11 Question Id : 41652911606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[f the function fix) defined by

|ra,1'2 Fbx +4, x = -1
f®=1 ,

Llu'* + a X <=1
is differentiable on R, then f{2) equals :

Options:
416529453262, 16

41652945363, 4

=]
=

416523945364,

[
“J

416525945365,

Question Number : 11 Question Id : 41652911606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



ira.xz Fbx +4, x= -1
A - s g

{h}:“la . x<—1

TR %ol R R ST €, 1 f(2) TR
g
Options:

41652945362, 16

=

41652945363, 4

=]
=

41852945364,

[
)

416525945365,

Question Number : 12 Question Id : 41652911607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let m(b) be the minimum value of the
function f(x) defined by

flx)=(1+b?)x%+4bx +4, x e R.
If the range of m(b) is the interval [2, 4],

then the range of values of b is the
interval :

Options:
41652945366, U, 1]

41650045367, |1Vl
2D

41652945368,
[—1,1]

41652945369,

Question Number : 12 Question Id : 41652911607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A f(x)=(1+b?)x2+4bx+4, x ¢ R 5
Ififid we 1 A9 5F m(b) €1 A
m(b) &1 IR, ST [2, 4] %, 91 b % =5E #
R e § | - e g7

Options:

41652945366, 10, 1]



[—=1,0]

4152945267,
i |
e

416529452308,
[—1,1]

416529452049,

Question Number : 13 Question Id : 41652911608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The equation x* +e*+5=0 (x € R), has
Options:

41652945370, No solution

41852945371 exactly one solution

41650945577 exactly two solutions

41652945373 infinitely many solutions

Question Number : 13 Question Id : 41652911608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
THE x? +e* +5=0 (xr e R) :

Options:
416529452370, <l il T H%:T’ % |

41552345371, kA e %l

41652945372, © A4 ol gl gl

F FTTEAE |
A41652945=273.

Question Number : 14 Question Id : 41652911609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let

J-{_-;in 1}1\\."'_ - ﬁ] dx =sinx f(x)— Jx g(x)+C,

where C is a constant of integration.
Then f(x) and g(x) are, respectively,



Options:
; y
T ar COSsXY
41650045374 2V

Jx and —sinx
416525945275,

2
E and —cosx
41 eE294537E,

2./x and sinx
416523945577,

Question Number : 14 Question Id : 41652911609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HHAT

j.{sin.r}:;\.f'_? s O J__] dx =sinx f(x)— Jx g(x)+C,

dxyx |

Rl C U A S €, O f(x) 99 g(x)

FEIM: T
Options:
1
a4l cosx
2 .
41652945374, 24x
41652945375, VX T —sinx
y.s
= Wl —cosx
41652945376, Vx
41652945377 2vx AHIsiny

Question Number : 15 Question Id : 41652911610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



If flx) = [x?] + g(x), where [x] represents the
greatest integer = x, and

2x 3,—35:({ 1
2
g(x) = 1x 1=x<1
| 3
13-2x, 1l=sx=—
| 2

3
2

then the value of f(x)dx , i3 :

P |

Options:

41652045378, 4+ 232

41650045379, 4 — 22

41652945380, 1

41852945381, 2

Question Number : 15 Question Id : 41652911610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afE flx) = [x2] + g (x), T [x], x T T 91 594
9 HedH Ui €, a4l

i

3
2x-3, — =x<-1
- 2
g(x) = 1x j=x=]
|3 2y, 15:{75E
L .

| fa)de FARE

[T

Options:

416500945378, 4+ 22

41650045379, 4 — 242

41652945380, 1



L A
41252945251 2

Question Number : 16 Question Id : 41652911611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The area (in sq. units) of the finite region
’ X

bounded by the curves y"=xand ¥ = 3

IS :

Options:

MO

415523945382,

NIE

416525945383,

SIS

416525945384,

W= | o

416525945385,

Question Number : 16 Question Id : 41652911611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-

am13=xﬁmy=%§mﬁ%ﬁﬁqaﬁﬂam
SEThel (a1 SIsdl ) @

Options:

MO

41852945382,

NS

416525945383,

SIS

416525345354,

9
41652945385, 4

Question Number : 17 Question Id : 41652911612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The solution curve of the differential

d: 1
equation (1 IE]—‘U 2y = ————,
dx (1 +x%)

passing through the point (1, 0) is :

Options:
) { 1 —_
Y= - 1,1 tan x —1
1+x\ 4)
41652945386,
¢ i
Y = tan” ! x I'|
41652945387 1+x™A /
y = tan lx ]
T T
416529453585, 1+x 8
[
_2tan "x W
z L 4
41652945389, 1+x

Question Number : 17 Question Id : 41652911612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

SATFA HIFH
' d 1
(1+2%)=L 4 20y = ——— I T 9,
dx (1 + x°)
S o famg (1,0) I I T, 7 :
Options:
> f i T
Y= - j1ta_n Ty —)
1+x\ 4)
41652945386,
¢ oy
y = - tan~ ! x l|
1+x\ 4
41652945387, -
y = tan lx )
. S N T
416529453585, 1+x 8
_ 2tan 'x =
2 2 4
41652945389, L

Question Number : 18 Question Id : 41652911613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The straight line which passes through the
point of intersection of the straight lines
x+y=>5and x—y=2 and is perpendicular
to the straight line 2x+5y=4 also passes
through the point :

Options:
(5

41652945390, \ 2

r

k3| =1
M, '

41652945391, (3, 1)

[3 F’W
'jf
41652945392, ° 2)

B3 | ~1
. ——

3
41652945393, \ 2

Question Number : 18 Question Id : 41652911613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

9% O @], S WA WS x+y=>5 a4

x —y=2 % Wfaesed fag ¥ Fa ot 2 3R

T W@ 2+ 5y =4 F o=Ed g e A g

o famg | ff 2 9Tl ©

Options:
f 5 7 W
41652945390 \2  2J
41652945391 (3, 1)

[3 F’W

jf

41652945392, ° 2)
]

B3 | ~1

3
41652945393, \ 2

Question Number : 19 Question Id : 41652911614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



An ellipse has its centre at the origin and
its minor axis is along the x-axis. If the
distance between its foci is equal to the
length of the minor axis and length of its
latus rectum is 4, then which of the
following points lies on this ellipse ?

Options:

(2,242)

416525945394

41652945395_[2r'f§)
41652945396,
41652945397

Question Number : 19 Question Id : 41652911614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T ST I s Je (9 T € T SHE oY
A9, x-A4 F AN 71 AT THHT AT F
== T g o A A % e € e
SHH] A= S i g4 T, W= E A
FA-91 forg 39 < W fem 272

Options:

(2,242)

416525945394,

41652045395, (2, V2)

(v2,242)

416525945396,

(242 ,2)

416525945397,

Question Number : 20 Question Id : 41652911615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The positive value of A for which the
straight line 4x—3y+ A=0 touches the
circle x>+ y2—4x+6y—3=01is :

Options:

41652945398, 4

41652945399, 3



41852945400, 5

41652945401, O

Question Number : 20 Question Id : 41652911615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 .
A T 9% ¥AHE A, Toas o 5@
4x—3y+A=0,TAx2+ 12 —dx+ 6y —3 =07
T A E, T

Options:

41652945398, 4

41652945399, 3

41552345400, 5

41652945401, O

Question Number : 21 Question Id : 41652911616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a normal to the parabola, yzzilx is
perpendicular to the line, 3y + x + 1=0, then
the ordinate of the point of intersection of
this normal with the directrix of the
parabola, is :

Options:

416529454@2."33

41652945403, 36

]

41652945404, 39

41652845405, 30

Question Number : 21 Question Id : 41652911616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afs TEed y?=4x F1 TH Afqa=, (@l
3y+x+1=0 T TEaq g, 59 Afera #
e F A (directrix) & A9 Afasged
a5 &1 FI2 (ordinate) €

Options:



41652945402."33

41652945403, — 30

T

41652945404, 39

41652945405, 30

Question Number : 22 Question Id : 41652911617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let S and S' be the foci of the ellipse
2 2

x | G .

— + =5 =1 and let A be the point (0, b).
a“ b=

If SA and S'A are perpendicular to each
other, then the eccentricity of the ellipse

15 :
Options:
43
41652945406, 2
N
41652945407
1
[3

41652945408,

ae
2

416525345409,

Question Number : 22 Question Id : 41652911617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

2 2
mméﬁqﬁi;|:%;=13ﬁWMWSHm9

a” b
Faa A A T (0, b) B 1 AfESA AMS'A TS
TE T AT €, O S99 i Sehwdl ¢ :
Options:

J3

41652945406, 2

2 -1

41852945407, e



&1~

41652945408, v

o
V2

416525945409,

Question Number : 23 Question Id : 41652911618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The length of the perpendicular from the
point (1, 2, 6) on the Iline

K PFEL 23

15 :
2 1 2
Options:
N
41652945410, ¥~

23

416525945411,

I~

416852945412,

41652945413, VO

Question Number : 23 Question Id : 41652911618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

g1 2,6)d@mm* -3 _¥y+1 _z-5
2 1 2

T G T o o ©
Options:

41852945410, \"E

41552345411, ﬁ

41652045412, 2

41652945413, VO

Question Number : 24 Question Id : 41652911619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



A plane has intercepts p—1,1and p+1 on
the co-ordinate axes x, yand z respectively.
If the distance of the plane from the origin

is L, then the largest value of p is:

3

Options:
41652945414, 0

41852945415, 2

ij
416525945416, \,.f:

416525945417, ﬁ

Question Number : 24 Question Id : 41652911619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

T AT & Fawi® S5 v, y 791 2 W SHAqague
FAM p—1,1 0 p +1F 1 afE T9aa #1 g
ﬁlﬁﬁ@-% 2, 1 p 1 FAfewad 7 2 -

Options:
41652945414, 0

41852945415, 2

ij
416525945416, \,.f:

416525945417, ﬁ

Question Number : 25 Question Id : 41652911620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

_}
Let an angle between the vectors a and

; be ET"T If ‘E‘ — 2|:‘ and the vectors

iy - s —
a+xb and a b are at right angles,
then the value of x is equal to :

Options:



| k2

416525945418,
2
416525945419, 5
1
>
41652845420,
1

41652945421, D

Question Number : 25 Question Id : 41652911620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x-_} _}x m = 'j
HAT A9 a 991 b % == uF o <7 o
':;

-—} — ,U.—} —
Hﬁ:"h‘:z‘a‘ﬁmwﬁw a +xb 3T

- =
a — b % &= %1 HU GHE 2, ° x FHHA
Options:
2
41652945418, 3
2
41652945419, 2
1
3
41652945420,
1

41652945421 D

Question Number : 26 Question Id : 41652911621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
One player A plays 4 games with another
player B. In any game, the probabilities of
A getting points (), 1and 2are (.45, 0.05 and
0.5 respectively. Assuming that the
outcomes are independent, the probability
of A getting a total of 7 points is :

Options:



41652945422, 20

41652945423, 40

41652945424, 20

41652945425, 10

Question Number : 26 Question Id : 41652911621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TF fgenst A, T faenst B % 919 4 7H
(games) gaAm el fFE M HAF0, 17912
¥ (points) 9T F4 1 TR HA: 0.45,
0.05 91 0.5 €1 @€ | &Y T @t uftoms
(outcomes) T T AF FA 7 3 9 FH
EIR IET

Options:

it
41652945422, 20

41652945423, 40

41652045424, 40

41652945425, 10

Question Number : 27 Question Id : 41652911622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The mean deviation about the median of
the data set

4,10,6,4,13,11,19.m,8, 7
where m = 11 is an integer, is 4.

Then m is equal to:

Options:



41652945426 14

41652945427, 19

416525945425, 16

41652945429, 17

Question Number : 27 Question Id : 41652911622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

It AFS & T

4,10,6,4,13,11,19, m, 8, 7

WEIm = 11 UF YOI &, S AfeasH F qTae
=g fa9a 4 :zr' Gl mw% :

Options:

41652945426, 14

41652945427, 19

41652945425, 10

41652945429, 17

Question Number : 28 Question Id : 41652911623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The value of l cota where
XE S

e
in F

5={:1‘:—{t1“_=2—a_nd
- 4

__1{1:52[1| __15jn2[1= —lE 15 :
Options:

41652945430, — 1

41652945431, 0
41650045437,

41652945433, — 0

Question Number : 28 Question Id : 41652911623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

2_ cota , @
LE S
= { P
= o — 0=
| 4 4

-4{'052 @ 45jn3[1= _1} <hl HH % :

Options:
41652945430 —1

]

416525945431,

=

416525945432,

41652945433, — 3

Question Number : 29 Question Id : 41652911624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The expression

f 1 , 1.4
U(Cng(tm x) + xsin(tan x]] 2

when (0 <x <1, isequalto:
Options:

416525945434,

1+ xz
41652945435

41652945436, Y4

41652945437, V1 +x

Question Number : 29 Question Id : 41652911624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
EEED

, | -
ﬂ(cns(tan lx] t xsin(tan 11’)] 1

SafF0<x<1, =T :
Options:



416525945424,

416525945435,

41652045436, Y4

41652945437, V1 +x

Question Number : 30 Question Id : 41652911625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The equivalent expression of

(P Aq) v (~paq)is:
Options:

41652945438 F 4

41652945439, P M 4

41652945440.(q s L

41652945441.(q v oplag

Question Number : 30 Question Id : 41652911625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
(Prq) v (~pnrq FITARATFE:
Options:

416520454358 F 7 4

41652945439, P M 4

41652945440.[q oA

41652945441.(q A o B

Aptitude Test
Section Id : 416529209



Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 9

Number of Questionsto be attempted: 9

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529315
Question Shuffling Allowed : Yes

Question Id : 41652911626 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct top view from amongst
the answer figures.

Sub questions

Question Number : 31 Question Id : 41652911627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

N
-
-,
s
, b ol

o,

Options:

41552345442,

41652545443,

4 125 [

416525945444,

415525945445,

Question Number : 32 Question Id : 41652911628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Options:

416525945446,

416525945447,

5 [ M

416525945448,

=

Question Number : 33 Question Id : 41652911629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

41852945449

-~ ""-\.\..

-
=

=
L, " |
o,
e
e

.
"'\._“
Ly~
.
ol

Options:

. "

o
L .
-

T

e

",

e,

o
.

s
o

.

41852945450,

416525945451,

416525945452,

0 0 Al

416525945453,



Question Number : 34 Question Id : 41652911630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s
e
- o

Options:

41852945454,

416525945455, S -

41652945456, L[|

41652045457, L]

Question Number : 35 Question Id : 41652911631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

-
-
- e

Options:

41552345455,

41852945459, [

416525945460,

41852945481,




Question Id : 41652911626 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

99T : 3- D wvA anapfa ° U a5 & U gva o fommn w ¥ e WE S gvE, S A oAl § 9
TEET |

Sub questions

Question Number : 31 Question Id : 41652911627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

f--zHfiii_‘::l..x._
LS A
o, o,
'- : o, L‘_:-r o~
Options:
L
},_I_
416852945442,
[T1T ]
L L
41652945443,
[
L
416852945444,
416852945445,

Question Number : 32 Question Id : 41652911628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

4155259454486,



416525345447,
4165259454458,
41552345449,

Question Number : 33 Question Id : 41652911629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

.a-"'-'
-
=
-

-
F' 4
o

.
.

e

.
w

o
T
e S
e
o
",
"
“..
S
—
-
. =y
S

"
o P
_

Options:

=

41552345450,

416852945451,

416852945452

41652945453, \—‘—

Question Number : 34 Question Id : 41652911630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-
- H'\-\._

Options:



416525945454,

416525945455, S

416525945456, [ =

41852945457, LI

Question Number : 35 Question Id : 41652911631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

__.-"'""h_
“ -

Options:
41652945455,

41652945459, [ ]

416525945460,

416525945461, [

Sub-Section Number: 2
Sub-Section Id: 416529316
Question Shuffling Allowed : Yes

Question Id : 41652911632 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (36 to 39)



Cuestion Label : Comprehension
Directions : The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Sub questions

Question Number : 36 Question Id : 41652911633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

0 |

Options:

416525945462, Mﬁ

i ’i"
41552345463, ’1‘

ilall3
416525945464,

41552345465, |_ ’1‘

Question Number : 37 Question Id : 41652911634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

un
S

W \

Options:

416525945466,

U
e

416852945467,



41552345465, ’—[Wﬂ ’_L‘
415523945469, ’—lj_ﬂ ’_I_‘

Question Number : 38 Question Id : 41652911635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[5;

A
) W

Options:

41652345470, ’_’JLI_‘
41652945471, |FL_|’_’-|-‘
41652945472, |_—|
41652945473, |

Question Number : 39 Question Id : 41652911636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
W

Options:



416525945474,
416525945475, —‘H
41552345476, |_|
—
il
41552345477, H

Question Id : 41652911632 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (36to 39)
Cuestion Label © Comprehension

FG9T : wem sl # Sl 1 S 39 o T € | R w9 H S g0 S ATEEl § | el 99
99 qEAT |
Sub questions

Question Number : 36 Question Id : 41652911633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

it

416525945462,

1
]

41552345463,

415525845464, ﬁ T’l‘
415525945465, 4|j|-|:|:|-|ﬁ~

—




Question Number : 37 Question Id : 41652911634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

aE
S

Options:

41652945466, (11
41652945467, FH_T}{TW
41652945468, FHTTW[WW

416525945469, ’—[I_ﬂ ’_I_‘

Question Number : 38 Question Id : 41652911635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[Si

.ff}n\

Options:
41652945470, l 1
41652945471, |FL_|

it

416852945472,



R

Question Number : 39 Question Id : 41652911636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
:_"L:-\"t_..\IL
- LY
OV
‘ [

416525345473,

Options:

41652945474, —‘F

416852945475, —‘H

416852945476, |_|
—
il

41652945477, ||
Sub-Section Number: 3
Sub-Section 1d: 416529317
Question Shuffling Allowed : Yes

Question Id : 41652911637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (40to 44)
Cuestion Label @ Comprehension

Directions : Which one of the answer figure will complete the sequence of the three problem figures

Sub questions

Question Number : 40 Question Id : 41652911638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

"
F
£ A
AN
S =
Py
g s |/
v, b | ™
ey | he
"'\._J' r'f
'\._L_

Options:



416525945473,

416525945480,

41652045481, L——

Question Number : 41 Question Id : 41652911639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

X

Options:

416525945482,

416525945483,

41652945484,

416525945485,

Question Number : 42 Question Id : 41652911640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

II|' e -._IIII- {.r _.--"_“1-.._‘.-'l J?
\\ '\_/ i \_\‘ rj_: L]

Options:

416525945486,



41552345457,

i
N,

41652945488,

41552345459, I—I

Question Number : 43 Question Id : 41652911641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ry s
._." \._ -~ o ", .

P Y T ) r?
& ) i K
Fi * ! ¥
L]

Options:

416525345430,

o
i "
1

;]

41652945491,

__I'.

41652045492, £

._‘..

41652945493, ./

Question Number : 44 Question Id : 41652911642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

& & 7

Options:

g Sy
X
41652945494,

41852945495, '

41652945496_'£EE'



41852945497, %

Question Id : 41652911637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (40 to 44)
Cuesticon Label | Comprehension

TE9T : S el & | o = A T T UYA AFFEl § I W FTHA (sequence) T BT ST 2

Sub questions

Question Number : 40 Question Id : 41652911638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

41552345473,

41552345450,

416525945451,

Question Number : 41 Question Id : 41652911639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

|\< )= ?
o L]

Options:

416529345452,

41652945483, Vo



416525945454,

416525945485,

Question Number : 42 Question Id : 41652911640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

/'/_ .r..f.-.......-l' IV % ?
| ; ; .-'l M
_/

%
L1 A

Options:

416525945486,

=
s

41852945457,

~ s
|

41652045488,

41552345459, I—I

Question Number : 43 Question Id : 41652911641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

P
F ', -~ -,
/ " ¢ . 4

*J

)
rd

Options:

41552345430,

e
- -
1
;

41652945491,

FAY
__I' kY
.'l. -'\..

416520945492, £

41652945493,/



Question Number : 44 Question Id : 41652911642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

O W @ ?

Options:

% \:
41652945494,

41652945495,

41652045496, E
41652945497, Eg%g;

Sub-Section Number: 4
Sub-Section 1d: 416529318
Question Shuffling Allowed : Yes

Question Id : 41652911643 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (45 to 47)
uestion Label - Comprahension

Directions : Which one of the answer figures shows the correct view of the 3 - D problem figure after
the problem figure is opened up ?

Sub questions

Question Number : 45 Question Id : 41652911644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-~ =
=

Options:



A

mrp O

418529454395,

=

T

415523454399,

41552345500,

416525945501,

EE ]




Question Number : 46 Question Id : 41652911645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

2 ﬁ
Options:
[ |
S
41652945502 L]
Ml b
| = P .
41652945503, 1

i

e

I

T

41552345504,



41852945505,

Question Number : 47 Question Id : 41652911646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

416525945506,

41552345507,

1] ljlll i ﬂ It I

41552345508,



] Elﬂ_l

[

416525345509,

Question Id : 41652911643 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (45t047)

Juestion Label @ Comprehension

9897 : 3 - D W9 A 1 Wieq W, 3T SHEaa H J & 599 HH 91 82
Sub questions

Question Number : 45 Question Id : 41652911644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

41652945498, —

O |
|

g
L

418529454599 ‘:‘



416525945500,

416525345501, e

Question Number : 46 Question Id : 41652911645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A
L~ i

Options:

416525945502,



41652945503,
1 f I
W[ n
41852945504, ;
I = rl_j
=
41852345505, :

Question Number : 47 Question Id : 41652911646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:



416525945506,

416525345507,

T 10 ﬂ : ﬂ i

41552345508,

416525945509, —

Sub-Section Number: 5
Sub-Section Id: 416529319
Question Shuffling Allowed : Yes

Question Id : 41652911647 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (48 to 52)

Juestion Label | Comprehension



Directions : One of the following answer figures is hidden in the problem figure in the same size and
direction. Select the correct one.

Sub questions

Question Number : 48 Question Id : 41652911648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41652945510, -~

41652945511, £

41652945512,

41652945513,

Question Number : 49 Question Id : 41652911649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A1
s
A

41652945514, &

xﬂ‘f

41652945515, ~/

41652945516,

41652945517, &

Question Number : 50 Question Id : 41652911650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:



416525845518, |:|I:|

41652945519,

418529455200

416525945521,

Question Number : 51 Question Id : 41652911651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

415523945522,

41652945523, L~

41652945524,

41652945525

Question Number : 52 Question Id : 41652911652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Vi
iy T “ 2 _'\_\

by T =
g i

Options:

41652945526

41852945527,

41852945528, 0 -

41652945529, S

Question Id : 41652911647 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (48to 52)



Cestion Lakel Comprehension

9T : 1= < 7o SR SATHITA § H U ST WY SR o9 § 99E w9 9 Wy ATHG H gul | HiE o w6
g, g

Sub questions

Question Number : 48 Question Id : 41652911648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

41652945510, =

41652945511, &

41652945512,

41652845513, &/

Question Number : 49 Question Id : 41652911649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A
s
£

416525945514,

/"1‘=

41652945515, &/

41652945516,

-~
~ .:'

41652945517, 7

Question Number : 50 Question Id : 41652911650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:



416525845518, |:|I:|

41652945519,

418529455200

416525945521,

Question Number : 51 Question Id : 41652911651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

415523945522,

41652945523, L~

41652945524,

41652945525

Question Number : 52 Question Id : 41652911652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Vi
iy T “ 2 _'\_\

by T =
g i

Options:

41652945526

41852945527,

41852945528, 0 -

41652945529, S

Sub-Section Number: 6



Sub-Section 1d: 416529320
Question Shuffling Allowed : Yes

Question Id : 41652911653 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension

Directions : Which one of the answer figures is the correct mirror image of the problem figure with
respect to X- X7

Sub questions

Question Number : 53 Question Id : 41652911654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

(X)

Options:

416525945530,

41852945551,

41852945532 ¢

416525945533,

Question Number : 54 Question Id : 41652911655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

Options:

(X)



41552345554

415523455355

[ER
e
P

41552345537

Question Number : 55 Question Id : 41652911656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)

Options:

41652945538, T

41652845539, I

41652945540, )

41652945541, “J

Question Number : 56 Question Id : 41652911657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



(X)

(X)
Options:
41652945542
41552945544
Kk /
LA,

Question Number : 57 Question Id : 41652911658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)
T
i1 Y
_L\-f’i \“!}:r‘
s
(X)
Options:
[II'\.'.
RN
dil'—'f'l'l'(.i \:’:_l ]
5 _
41652945546, =
:| ."l TN
4R
f"<~_,f}
41652945547, —=
RN
A
LY ";’/ .
41652945545, L— ~




416525945549,

Question Id : 41652911653 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension

9891 : s sfaai ° @ F=ET st S TR WY e 1 X - X H arsifya e gdur wfafea 2
Sub questions

Question Number : 53 Question Id : 41652911654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

(X)

Options:

416525945530,

416525945531,

41852945532 ¢

416525945533,

Question Number : 54 Question Id : 41652911655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)

Options:

(X)



41552345554

415523455355

[ER
e
P

41552345537

Question Number : 55 Question Id : 41652911656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)

Options:

41652945538, T

41652845539, I

41652945540, )

41652945541, “J

Question Number : 56 Question Id : 41652911657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



(X)

(X)
Options:
41652945542
41552945544
Kk /
LA,

Question Number : 57 Question Id : 41652911658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)
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_L\-f’i \“!}:r‘
s
(X)
Options:
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dil'—'f'l'l'(.i \:’:_l ]
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A
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z_.' I.-(: II '{:::\
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41E52945549 —
Sub-Section Number: 7
Sub-Section 1d: 416529321
Question Shuffling Allowed : Yes

Question Id : 41652911659 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (5810 62)
Juestion Label - Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 58 Question Id : 41652911660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ey

Options:

416525345550, i

|_|_

41852945551, =

T

416525945552,

41652945553, mal]

Question Number : 59 Question Id : 41652911661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

o

41652845554,

[ |

41852945555,

41652945556, L |

416525945557, L |

Question Number : 60 Question Id : 41652911662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
41652945558,
41652945559,

41852945560,



416525945561,

Question Number : 61 Question Id : 41652911663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s

~I
Options:
|
416529345562,
I
41652945563,
H
41652945564,
m
41652945565,

Question Number : 62 Question Id : 41652911664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

416852945566,




416525945567,

416525945568,

41552345569,

Question Id : 41652911659 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (58 to 62)
Cuestion Label © Comprehension

%:B-Dma@ﬁﬁt@a@g%wwaﬁﬁ@mw% X =t feen ¥ <ad 7y, mmg@wﬁ
I SR § F g |
Sub questions

Question Number : 58 Question Id : 41652911660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o,

Options:

416525945550, i

415525945551

41852945552

-

]

416525945553

Question Number : 59 Question Id : 41652911661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

o

41652845554,

[ |

41852945555,

41652945556, L |

416525945557, L |

Question Number : 60 Question Id : 41652911662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
41652945558,
41652945559,

41852945560,



416525945561,

Question Number : 61 Question Id : 41652911663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s

~I
Options:
|
416529345562,
I
41652945563,
H
41652945564,
m
41652945565,

Question Number : 62 Question Id : 41652911664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

416852945566,




416525945567,

416525945568,

41552345569,

Sub-Section Number: 8
Sub-Section 1d: 416529322
Question Shuffling Allowed : Yes

Question Id : 41652911665 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (63t0 65)
Cuestion Label © Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 63 Question Id : 41652911666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41552345570,

416525945571,

4155234557 %2.




]_‘

41852945575,

Question Number : 64 Question Id : 41652911667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

416525945574,

416525945575,

41852945576,

416525945577,

Question Number : 65 Question Id : 41652911668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
‘::-'JI;:-' ..H"-..___‘ .Hh:::-
e UJ I

Options:

}_:

41552345578,



as

416525945573,

41552345580,

41552345581,

Question Id : 41652911665 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (6310 65)
Cuestion Label © Comprehension

98971 : 3- D w9 =71&pfa ® U 9% & U ¥9 &I fgm@ma T ¥ 9 # foen | 2Ed 3, 9 9YE oY
%1 ST ATHIE § H TE=d |
Sub questions

Question Number : 63 Question Id : 41652911666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

41552345570,

416525945571,

ik

4155234557 %2.

£

41552345573,

Question Number : 64 Question Id : 41652911667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Options:

41552345574,

41552345575,

416525945576,

41652345577,

Question Number : 65 Question Id : 41652911668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e
; \_

Options:
4165294557 8. }_
41652945579, ’» '

418523945580,



41852945581,

Sub-Section Number: 9
Sub-Section Id: 416529323
Question Shuffling Allowed : Yes

Question Id : 41652911669 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (66 to 80)
Cuesticon Label | Comprehension

Sub questions

Question Number : 66 Question Id : 41652911670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In which Indian city would you find the
mosque with “Shaking Minarets” ?
Options:

41650945550, 11yderabad

41652945553, Lucknow

41650g455g4 A1hmedabad

41652945555, Allahabad

Question Number : 67 Question Id : 41652911671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ellora in Aurangabad(Maharashtra) is
famous for ancient caves representing
Buddhism, Hinduism and Jainism. Of
these, the largest number pertains to... 7
Options:

41650045sgg,  buddhism

Hinduism
415529455587,

41650045sgg  Jainism

416500455gg  Zorastrianism



Question Number : 68 Question Id : 41652911672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which one of the following is a renewable
source of energy ?
Options:
41652945590, Coal
41652945591, Natural gas

41650945590, Ocean waves

41652945593, Ol

Question Number : 69 Question Id : 41652911673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Everyone knows “The Taj Mahal’. It was
built by the Emperor Shah Jahan, but for
whom ?

Options:

41652045594, Jahani Mahal

41650045595, Farida Mahal

41652545506, Mumtaz Mahal

Toba Begum
41552945597,

Question Number : 70 Question Id : 41652911674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Where is the world’s largest panoramic
sculptural relief located ?
Options:

41652545508, Kanchipuram

41652945599, Madurai

41652945600, Pondicherry

Mahabalipuram
41552945601 .



Question Number : 71 Question Id : 41652911675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In which place in India can we find cave
temples of three faiths ?

Options:

41652945602, Madurai

41852945603, DPelhi
41652045604, Cllora

41652045605, Agra

Question Number : 72 Question Id : 41652911676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of these is not a planned city of
India ?

Options:

41652045606, anpur

41652945607 Bhubaneshwar

41652945608, handigarh

Gandhi nagar
41529452049,

Question Number : 73 Question Id : 41652911677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Whois the Architect of “LIC Building, New
Delhi” ?

Options:
41652945610, Charles Correa

41652945511 Laurie Baker

41650045610, 1€ Corbusier

BV Doshi
41eE294561 2,

Question Number : 74 Question Id : 41652911678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
Which is the highest Award for
Architects ?

Options:
41652945614, Pritzker's Award

Aga Khan Award
4152945615,

41652045616, Rechter Prize

41652345617, Stirlmg' EnEg

Question Number : 75 Question Id : 41652911679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The house called “Falling Waters’ was
designed by which one of the following
architects ?

Options:

41652945618, James Sterling

41652945619, Trank Lloyd Wright

£ X
41652945650, Walter Gropius

41652945621, [rank Ghery

Question Number : 76 Question Id : 41652911680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The maximum heat gain in a building is
from which part of the building :

Options:
41652045622, Floors

41652045623, Doors

41652945624, ROOfS

41652945625, Windows

Question Number : 77 Question Id : 41652911681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Shady trees can help protect a building
from the summer sun when these are
located on which side :

Options:

41652945626, North
41652945627, South

41652945628, Last

41652045620, West

Question Number : 78 Question Id : 41652911682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
What is the role of lintels in a building ?
Options:
ST wildi
41652945650, Give light to buildings

Support the portion above wall

41652045631, Openings

41852945632 oeparate the rooms

41652045633 Oupport the windows

Question Number : 79 Question Id : 41652911683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In side hung windows the hinges are fixed
on which side of the shutter ?

Options:
41652945634, 10P

41652945635, bottom

41652945636, Olde

41652045637 Middle

Question Number : 80 Question Id : 41652911684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
‘Mona Lisa’ is which of the following ?



Options:
4165004563, * painting

41652045639, -» Queen

41650645540, 1D Actress

A Dancer
41eE2a456471

Question Id : 41652911669 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (66 to 80)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Sub questions

Question Number : 66 Question Id : 41652911670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
forg yrd s | Ayt feem 9 9Er
& 1Y Aiesg fHer ?

Options:

41652845582, %3‘[ all

41652945583, Q1S

41652945584, HeaHS

41652945585, T NE

Question Number : 67 Question Id : 41652911671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A (Wenr2) H e dig oM, fig o
F fou wfgg 81 399 9, w99 99 e 9

Options:

41652945586, NG T4

416525945587, %i i

S o

41852945588,



|
41652945589, TUFATIG

Question Number : 68 Question Id : 41652911672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

FeAfeaa & & wF = S w1 A5 Hid 87
Options:

41652945590, FIACT

415523455391, 3 T

41552345532,

-

415523455393, e

Question Number : 69 Question Id : 41652911673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T HE AR A €1 A8 HHE WS
BT =R T o1, e e for ?

Options:

416525945594, E &

4165259455395, ;

4155239455396, T <

41652945597, I ™

Question Number : 70 Question Id : 41652911674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S T Tl TS TR qidwen Ted Fel
feo@ 272

Options:

4165253455598, 1

a

416525945599, =

[T

418523945600,



s

416525945601, gt

Question Number : 71 Question Id : 41652911675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 )
ARd H e T W EH dE 9Hl % T A
10 HFA B ?

Options:

a

qgl

416525945602, =

i~

416525945603, i

41552345604, &

41652945805, SN

Question Number : 72 Question Id : 41652911676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T T W1 HRA 1 e e e 87
Options:

416523456086, I

416523945607, i Rl

o

41652945608,

";ﬁ
41652945609, T

Question Number : 73 Question Id : 41652911677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FAE?
Options:

r xr-

41852945610,

41652945611, I TFT

41652945612 o Corbusier



41852945815, ST,

Question Number : 74 Question Id : 41652911678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
37
Options:

415525945614, SAs

41652945515, SN @ TEHR

41652945616, Jerpik Tl

- &

41652945617, ISR

Question Number : 75 Question Id : 41652911679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
"rifer ared ' e ] refataa fdesa
H 4 T g fesea fomn mn an?
Options:
41652945618, Sy T2fem

416525845619, : =

41652345620,

Tep T

416525945621,

Question Number : 76 Question Id : 41652911680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
yet B T ey sftre e fem 9 st 22
Options:

41652945622, T

41852945625,

41652045624, 20



41852945625, :

Question Number : 77 Question Id : 41652911681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

JTAER U A &1 TH H UF ARG HI T H
e & UFhd & o o ford avw feua 2
Options:

41652945626, S0

416523456827, oy

[

416525945628, E 5

41652945629, NEaq

Question Number : 78 Question Id : 41652911682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T THRA H feiee #1 g g ?
Options:

41652045630, o P PRI S

SAr & gol e & S Y7 F FE
41652945631, * 0

41652945632, POL ST T

41E52945E653,

Question Number : 79 Question Id : 41652911683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
U TF | o ATl a2 & F1e 69 TWF
B E?

Options:

41652945634, FI%

Falia

415523945635, =



41652945636, Hlzs T

416523945637,

Question Number : 80 Question Id : 41652911684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
‘s feren’ faeferfiaa | 9 91 €2
Options:

41652945635, o =T

41652945639, & AT

416525345640, T R

416525945641, ks 2

Drawing
Section Id : 416529210
Section Number : 3
Section type: Offline
Mandatory or Optional: Mandatory
Number of Questions: 3
Number of Questionsto be attempted: 3
Section Marks: 70
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 416529324
Question Shuffling Allowed : No

Question Number : 81 Question Id : 41652911685 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20



(a)  In the space provided in the answer
sheet for this question, draw margin
lines to form a frame. In this frame
create an aesthetic composition using
only equilateral triangles. These
triangles can be of any size, and may
be placed separate, overlapping or
within each other. Design and draw
to produce an aesthetic and visually
exciting composition of these
triangles in the frame without making
it look like any form like house face
etc. The spaces created by the
composition should be filled with
some colors of your choice so that the
visual quality of the composition is
enhanced. Use of drawing
instruments is allowed. 20 Marks

Question Number : 81 Question Id : 41652911685 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20

(@) TH 9 F o I 7= § WSM & T
e #, ¥ F9H F fau mifeE e
=0 | 59 W | hiddl THqed A0 &
ITEMT FIF TF Gied T ael | F
fregat fereit ff SR 1 &1 T €, AR
IET- AT, AT a1 UF g4
i Tl & Wl €1 W H 5 e
T U Gied 3R gfe T Im=s G
=1 foon 2 3 ferg femmes i 2f =4,
SH T F =el afE oy TRt o w9 @6t
e fe@ & o1 =e=m g = T
e T A9l 9HE & F9 0 9 94
ST =fey afes 594 urEd S 9aE
TR | SIS SN 1 SUET T H

351':1‘41"5[ %E 20 Marks

Question Number : 82 Question Id : 41652911686 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20



(b)  Draw the mirror image of the graphic
shown below about the line X - X.
Your drawing should be technically
correct in the drawing of lines and
their positions. 20 Marks

(X)

B

(X)

Question Number : 82 Question Id : 41652911686 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20

(b) @MEA X - X & Hay H A fo@m T

AT S 31 Tefa & Fo=m o o
=7 § a2 =E | 20 Marks
(X)

(X)



Sub-Section Number: 2
Sub-Section 1d: 416529325
Question Shuffling Allowed : No

Question Number : 83 Question Id : 41652911687 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30

(c) Make a beautiful colorful design for
male shirting material. 30 Marks
OR
Draw a picture of your favourite film
star as realistic as possible.
OR
Draw from memory a picture of
your school showing the
surroundings.

Question Number : 83 Question Id : 41652911687 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30

() X FHIS & FIS & AU UF gt T
mml 30 Marks
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